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I 509 #4-opma70mn
a  source: w"ar1 —v. 1- only when they are properly garbed are they nnna
b challenge: it is inferred from vv. 1-2, npin::npn connecting B2 70NN (and 09N D PINT RHY) to 1 MNY
i answer: from there, we wouldn’t have extended to an nmay for which a1 is nnom a»n
ii  question: how can we then apply nmay 31 %104 to 1 Mnw?
iii  answer: via npN:npin
1 challenge: ®in learned that 1 »nw invalidate nmay from v. 1
(a) answer: that was before he had knowledge of the nw nam
2 challenge: he originally inferred oy 20N from 1 Mnw
(a) answer: meaning of final clause- npn::npIN > we don’t distinguish between 17 »nw and o1 701NN
(i) question: if so, what is the purpose of 91an% (v. 3)?
(if) answer: to prohibit a drunk from acting in a position of N1 (27's practice on V")
¢ challenge: it is inferred from v. 4 — pPINR must be 1Mn’32a (all 8 1) to be valid
i answer: our verse would only teach about nTay that is indispensible for n1a;
d  challenge: v. 5 teaches that if a V170 113 wears 3" *T31 and does nTay — invalid
i answer: from v. 4, we would have only known about omitting necessary garments; v. 5>adding as well
I xn»are: definition of 11 0NN
a  if: clothes were loose, raised or tattered — nmay is valid
b but if he wore 2 of any T3, added or reduced #, had bandage on flesh or if they were muddy or torn — nmay is invalid
i Snmww loose (and dragging on ground) — valid; raised up — invalid
1 challenge: Xn»11 taught that both are valid
2 defense (n727): if he lifted them up with belt (and they’re his size), valid; if they were never right size — invalid
ii 37 both are invalid (challenge from our ®Xn»13; answer to Y81w will not suffice)
1 answser: 37 understood ®n’»1 as one clause — loose ones lifted up by viar are valid
¢  status of loose 72175 »12x R 7 — depends on dispute among DR, re: obligation of 5-cornered garment in nxy
i an93l:v. 6 excludes 3-cornered; includes (due to »27 of na noaN TWR) 5-cornered (5 subsumes 4; 3 does not)
1 implication: an extra one is ignored - the dragging garment garment is ignored
ii ~ ap732:v. 6 excludes both 3- and 5-cornered garments;
1 implication: cannot ignore “extra” - dragging n1n3 *M1 are invalid
III  rejection: all agree that we reckon the extra one
1 however: Xn»111 sees a "1171 of N2 NOIN VR as extending to 5-cornered garments
(a) &17932: uses N2 NN TWR to include garments of a blind man, and v. 7 (onRM) to exclude n%% mo>
(i) rationale: a blind man’s garments are seen by others; nighttime garments aren’t seen by anyone
IV xn»are: meaning of "12” (v. 7) — must be cotton, new, woven, six-ply thread and he may wear nothing 5n with them
a  challenge (9oy 775 72K): “cotton” is understood — teaches that 712 means that
i but: why must they be new? our Xn»11 teaches that if they were worn out, still valid
ii  response: “six-ply” also doesn’t “fit”; the word 72 means “single”
iii rather: means that any garment identified as 72 must be cotton etc. — some of these mxn (e.g. new), some 213y%

www.dafyomivicc.org 15 © Yitzchak Etshalom 2010




D70 TVRI0'T YA YR 0°mat noon WY AT TIRHY Yy et

b question: how do we know that 72 means cotton?
i answerl: something which comes out of the ground shoot by shoot
1 challenge: so does wool
2 answer: wool separates into multiple strands
(a) challenge: so does cotton
(b) answer: cotton only separates when hit (beaten)
ii  answer 2 (¥2237): v. 9 teaches that Ta=cotton
1 challenge: how did they know it before YRpmn”’s time?
2 answer: they had a tradition and S®ptn> wrote it
(a) just as: he did with the information in v. 10
3 note: v. 9 mentions 11 1m RY — meaning of yr:
(a) »aw: place where they sweat — as per kn»a:
(i) vaan:is not placed below hips or above arms, rather between there
(b) related story: "wr "1 was standing before king, who adjusted his belt to be raised
(i) he then: cited v. 10 as proof that Y87 oy should have royal demeanor
(if) when: *w& "7 told 9 nR the story, he invoked v. 11
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